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Arithmetic Sequences Notes
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Definition: An arlthmetlc sequence is a sequence in which each term after the first is found by

adding a constant, called the | gmmon p(l%.@l.é& ( 'd‘ 2 to the previous term.

Example 1: Fill in the next 3 terms. What is the common difference?

2,5,8,11,14,17,

Example 2: Fill in the next 3 terms. What is the common difference?

55,4943, 37 5/ &5 A=—C(

Term Notation: 2,5, 8, 11, ... A= & ( 4 ym ol ¢ //07[45407)
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Formula for writing an equation of an arithmetic sequence:

The nth term a,, of an arithmetic sequence with first term a, and common difference d is given

[icst, perm nomber
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Where n is any positive integer. (*n stands for the number of terms in the sequence)

Example: Write an equation for the nth term of the arithmetic sequence

8,17, 26, 35,.
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Example: Use either method to find the equation for the nth term of —8, -6, —4, ...

e L An = A1 + (/1*/)/{
1= 2 dn ==+ (n-1)(3)
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c) Find the 120" term.
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Example: Find the 4 arithmetic means between 16 and 91. (This means the 4 missing terms
between 16 and 91). *Need to find d.
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Example: Given a, = 21 and ag = 45, find the equation of the arithmetic sequence and find
the 3 arithmetic means between them. ~

20,21, 3% 39 45
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Example: Given 52, 46, 40, 34... Write a formula and find the 97* term.

Q=52 An =52 +(n-1)(-t) lgp (77758
d="b &’”én +5d h%:«jﬂ/

Given ag = 74 and a;3 = 151. Find the first term.
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Given the sequence:

52,39,26, ..., —260, —273, —286
A =t A=-15

1. Write the formula

2. Find the 12" term.

3. Which term is -182?

4. How many terms are in the sequence?

ﬂv =, + (n-1) 4
’ 267 +(n-D(-13) Az’ J3(r)es
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